


















=> M&)  =  l?M,,(t) = (I+l+...+,,,l
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mibhain  2 N cqr = x + 1,  A)

Pr(Z  Q t) = Prti:,c,+,,,  6 2At)  = Pr(XfzfI+,,  d 21y)

= Pr(x&+,,,  4 2m)

= > Pr(X  G 3) = 1 - Pr(xfI,J+,jj  ( (2N.3))

= 1 - Pr($,,  G 2.6)

Pr(&  Q 2.6) = 1 - .95691 = .04308

&ih Pr(X<  3) = 1 - Pr(&, < 2.6) = 1 - .04308 = .95692
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3. Cl r = 1, t = 2 9tWJ7h

fx(x)  = -.A.-
b - a

; adx<b

E(X) = a + (b - a)/2 = (a + b)/2 LlRt

=>  X N BT(O’,  360”,  r, t) E(X) = r/t V(X) = r(t - r)/tl(t  + 1)

bbA”WJ7h E(X) = 205” ax = 99.1

= > t/t = 205 . . . . . . . . . . (1)

r(t - r)
t*(t + 1)

= (99.7)2 . . . . . .
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=> r = 1.25, t = 2.2

X - BT(O”,  360”,  1.25, 2.3)







mn f,.(y)  = ke-?(y-“)’ ; - m<y<m  ; -w<m<a

fu(Y)  = * e-e(~-m12  ; -m<y<m,  -m<m<m

\/;;

iFTll3,l  V(Y)

V(Y) = E(Y - rn)l  = Iy,(y  - m)* -\/F e-c(Y-mP~y

\/;;
.

= > V(Y) = l
2c
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N(p, a*)  =  fdy) =  -!...-  e - I/W - #)‘/O’
if%

; - -<y<m,  -m<p<m

N(p, 03 = f,.(y)  = -!.-
f%

exp (.- & (Y - PYI

; - m<y<  - m<pc<m

16) (dl
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61lWllO9  Rayleigh Distribution ¶-hln~~~~

f&+(w)  =
1 w2emv2/2  ; w 20

i/Xr(3/2)

0 _ fi  - 26 - 0,62(j78’E(W) = ~ - -__-
r-(3/2)

V(W) = 3 - 2 = 3 - 0.4432 = 2.5568
ry3/2)

e.
’ n. t&2  n  tilu~~~autn”u~siot~~~au,  n  >o a&  r(n  + I) = d(n)  kriirdwii

r(3/2)  = r(  ; + I) = ; r(; ) = f $7

r(-2  + 1)
r(-3/2)  = --3/2  = __  =

r(-k  + I)

=
=\r;;=4\r;;

3/2 (-3/2)(-l/2) 3/4 314 3
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+I. &ttIh~%JttIJ¶J~  (Student t Distribution)

t = K-j4
s/&c  1

$1  &iarLd+J  Xi m N(p., 03,  i = 1, 2, . . . . n ~%A~RX3i~f%4  Mtt  Z, = ‘2 ;
oi

i = 1, 2, ,..,  n
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Pr(W  < F) = .95

=>
pr(W-E(W)  <F-  1.2

W
o,84 ) = .95 = Pr(Z  < 1.645)

= > Pr(Z  < F- 1.2o.84 ) = Pr(Z  < 1.645)

=>
F- 1.2 = 1.645

0.84

F = 1.2 + (1.645)(0.84)  = 2.58
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